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1. (A) (B)

2. (A) (B)

3.(A) (B)

4. (A) (B)

(©)

Part B : BAREE : SIIE=BEE  FHEBMRINAS  BH—EZESHOE (0%) (B8

6. (A) Yes. The nurse is friendlier to me.
(B) Yes. I never see any smile on the nurse’s face.
(C) Yes. | feel more afraid when the doctor is around.
7. (A) Well, that’s his style.
(B) Because he likes cotton better.
(C) He never wears fashionable clothes.
8. (A) Yes, I’m much fatter than you.
(B) Yes, | feel slimmer than before.
(C) Yes, I can share more oil with you.
9. (A) Sure. Believe in yourself.
(B) Yes, you may have a chance to see it.
(C) OK. The ox, the elephant, or the whale.
10. (A) Yes, he is the noisiest boy in my class now.
(B) Yes, he’s going out with the prettiest girl in our school.
(C) Yes, he just bought the latest model of iPhone.
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11. (A) The man is kidding.
(B) The pens look more popular.
(C) Writing with pens is in fashion.
12. (A) Yellow is a perfect color for the boy.
(B) The boy’s brother gave good ideas about fashion.
(C) The boy shouldn’t wear yellow clothing anymore.
13. (A) The cake is softer than the pie.
(B) The cake is harder than the pie.
(C) The cake is sweeter than the pie.
14. (A) He saw Lisa ride a bike on the street.
(B) He saw Lisa buy the latest model of a phone.
(C) He saw Lisa play games on her smartphone.
15. (A) The peaches are much bigger than the apples.
(B) The apples are more expensive than the peaches.
(C) The peaches are more expensive than the apples.

SHE0D : #R=EHIEE - 80%
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16. Judy: There was an earthquake last night. Cathy: No wonder | felt everything terribly.
(A) shaked (B) was shaking (C) to shake (D) shaking

17. When | walked past Tom’s room, | heard him :
(A) talked to herself (B) talking to himself (C) to talk to him (D) talking to yourself

18. Although Judy is more than 50, she looks than she really is.
(A) much younger (B) young (C) youngest (D) more young

19. Jessica is five years older than Peter. Peter is two years younger than Steve.

So
(A) Jessica is the youngest. (B) Steve is older than Jessica.
(C) Jessica is two years older than Steve. (D) Steve is three years younger than Jessica.
20. A: Who ate cake in the refrigerator(k 45) this morning? B: Gary did. | just ate
(A) the more ; afew (B)the most;afew (C)the most;alittle (D) the many ; a little
21. Johnny badly in the car accident(z, *}) yesterday. His back so much now.
(A) hurt ; got hurt (B) was hurt ; hurts  (C) got hurt ; hurt (D) hurts ; hurt
22. Joseph is person for this job in our office. | can’t find anyone else better than he.
(A) aworst (B) the worst (C) the better (D) the best
23. The door will open and close by , S0 there won’t be a problem even if your hands are full.
(A)it (B)you (C)itself (D) yourself
24. Without her glasses, she can hardly( < % ) see anything.
(A) towear (B)wore (C)wearing (D) worn
25. The air pollution is getting than before. Walking on the street, | can hardly breathe(=* =x).
(A) good (B)bad (C) better (D) worse
26. She her fingers when she was preparing dinner.
(A) was hurt (B)is hurting (C) hurt (D) hurts
27. | just saw a fish the pond. Did you see that?

(A) to jJump out (B) jumping with  (C) jumped between (D) jump out of
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28. Waiter: What drink would you like to go with your main dish(z % )?

Cathy : | have no idea.

Waiter : Sure. We have orange juice, milk tea, coffee, and black tea.

(A) I’'m not ready to order my dish. (B) How much is the orange juice?

(C) Can you give me some choices? (D) The strawberry cake looks yummy.
29. A: Maybe I can’t win the running race.

B: Hang in there(%-4F T 3 ).

A: Thanks. I’ll do my best.
(A) Believe in yourself. You can make it. (B) You can give up right now.
(C) I’m afraid of losing the race just like you. (D) You are the least strong person on the team.

30. Which is right?
(A) New York is bigger than any other city in Taiwan.
(B) The teacher saw that student cheating during the test and feeling very angry. cheat &k 5
(C) My math grades is a little worse than her.
(D) Of the two cities, Kaoshiung is the hotter.

T mRTEE12% (BE 1)
(=)

Mary and her brother, Larry, are twins, but they look very different. Mary is taller and heavier, but Larry
Is 31. and _31. . Mary runs faster, but Larry swims faster. Mary gets better grades in math and
science, but Larry likes Chinese and English better. Howerver, they are alike in one way. 32.  For them,
seeing moviesis _ 33. interestingthan _ 34. other things. They often go to the movies together.
alike #p ffe

31. (A) as short ; thin (B) short ; thinner (C) shorter ; thin (D) shorter ; thinner

32. (A) They don’t like to go to the movies. (B) They both love movies. | alone jHp #
(C) Mary doesn’t like watching movies atall. (D) Larry like watching movies alone.

33. (A) many (B) much (C) more (D) very

34. (A) doing (B) do (C) does (D) to do

(=)

Steve : | can’t believe that! The big _ 35. caused a lot of damage! It was really terrible.
Lisa: 36. ,either. Twenty people died because of it, and hundreds of people got hurt.
Steve : That’s all because they couldn’t run out of their houses in time.
Lisa: How could they? It came so suddenly. Few people could arriveata _ 37.  place in such a short time.
Steve : That’s true. It was really terrible. The houses and ground shook up and down.
Lisa : What can we do before another earthquake hits?
Steve : There are a lot of things to do. For example, make a shopping list and get all the things on it. We
have to prepare _ 38.  well.

cause i = damage 4f £ such 4cpt 3+ another ¥ — &

35. (A) typhoon (B) wind (C) earthquake (D) rain
36. (A) It was really scary (B) The damage wasn’t so big
(C) I can’t believe that (D) you can say that again
37. (A) safe (B) serious (C) slow (D) thirsty
38. (A) themselves (B) yourself (C) yourselves (D) ourselves
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There are more than 50 different kinds of kangaroos in the world today. The smallest are only five
centimeters tall but _ 39.  are more than two meters. Kangaroos can neither walk nor run ; all they can do
IS jJump. The best time  40. kangaroos is the evening and early morning. They spend the day time
taking a nap under trees. The baby kangaroos are only about two-and-a half centimeters

41.  when they are born(! #). They stay in their mother’s pouches until they are eight
months old. However, some of the younger kangaroos aren’t interested(g* £*4%& 13) in living
in the big wild world, so they don’t leave until they 42, .

| neither...nor... & 2t--- ... gpend 7=(FFRE) until & 3...kangaroos &% B pouch 7 52 & wild ¥ #} 3

39. (A) the bigger (B) biggest (C) the biggest (D) bigger

40. (A) by seeing (B) to see (C) for see (D) seeing

41. (A) fat (B) old (C) long (D) big

42. (A) come out of holes (B) fly around (C) give milk (D) are big enough
= HEARR: 14% (B8 2 D)
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THE ROBOT WORLD

Do you like robots? What do you think of them? Share with us the
robots that you’ve seen or the one you would like to have at home.

New Posts 2 )

| couldn’t believe it when once at an airport | saw a robot which showed the
weather and told people where to go for fun. The robot also had a small talk and
played a game with me!

3 COMMENT S = PUSH » SHARE * SAVE

| saw a robot at a department store a few weeks ago. It was a round one with two
small brushes in the front and four wheels at the bottom. It’s my dream robot.
With its help, our house would be cleaner.

1 COMMENTS = PUSH « SHARE = SAVE

| have a robot, which is also a cellphone. It can check e-mail and read it out loud
to me. It can even lead the way for me when | go out. It is of great help to me
because my eyesight is poor.
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Lisa 2 COMMENTS = PUSH = SHARE * SAVE

When it’s raining outside and there’s not enough food in the refrigerator, what

do you do? Order food from a restaurant and then someone from the restaurant
brings your meal to you in a wet raincoat? A woman in London had an interesting
experience. She once ordered food from a restaurant, and fifteen minutes later,

she was surprised to find a robot right at her door with her dinner!
4 COMMENT S * PUSH * SHARE * SAVE

1)

wheel #+ eyesight 424  raincoat & # airport 63 experience 5% once H p  refrigerator /k 45 round [f] 3

43. Which robot is the most useful to blind(F% 7 ) people?
(A) The one Peggy talked about. (B) The one Josh talked about.
(C) The one Lisa talked about. (D) The one Gary talked about.
44. Which is the robot Josh wants to get?

A ®) |

I'd like to visit
you this Saturday.
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The wind keeps blowing.
The door keeps opening.
Will you be with me, my dear Lucy,
When | look for candy

Down there in the dark, dark kitchen?

The wind keeps crying.
The door keeps shaking.
Will you be with me. My dear Lucy,
When | pick up my toy puppy
Out there on the high, high balcony?

Wish you could always be with me
And make them go away with your Do-Re-Me.
| remember last Halloween
They ran away when you started to sing,
“Dear Tommy, my little king,

Close your eyes and have a sweet dream.”

So please stay with me and sing
To stop them kicking the door, riding the wind,
And pulling me down to their house under the ground.
They’ll go away if you sing here for me,

In a voice that gets a black cat’s hair standing,

(ideas from Matthew Sweeney’s poem)

The strongest legs shaking, and the window glass breaking.

poem ¥

45. Which is most likely true about the speaker in the reading?

likely # it lonely #3 jf e

(A) He thinks a black cat is hiding somewhere in the house.
(B) He feels lonely because he is the only child in his family.
(C) He is looking for something he left somewhere in the house.

(D) He is afraid of being by himself when he feels ghosts around.
46. What can we learn about Lucy in the reading?

(A) She keeps opening the door.
(B) Her voice makes the speaker feel safe.
(C) Her candy was hidden(#x "% &%) in the Kitchen.

(D) She was away from home last Halloween.
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Fox News

August 31. 2012
More and more young people in Taiwan are going on working holidays, to work in a foreign country while

visiting it. Although there are many countries young people can choose from, Australia has always been
Taiwanese people’s favorite country for a working holiday (see Figure 1). It is said that it is not difficult to
make one million NT dollars in Australia in only one year.

There are some interesting facts about Taiwanese people going on working holidays. First, the average
age of the people who go on working holidays in other countries is 24.3 years old; however, it is 26.3 in Taiwan.
A survey shows that what holds Taiwanese young people back from going on working holidays is that they do
not have enough money to go abroad or their parents do not agree with this idea.

Second, there is a disparity between males and females who are going on working holidays (see Figure 2).
The number of females is almost three times more than that of males. Some people think this is because
Taiwanese young women are more willing to try new things; other people say the reason is that Taiwanese men

have to spend about a year in the army, so they just want to get a job soon. But the real reasons are still
unknown.

Figure 1 Figure 2

14,000

13,809
12,000 /
10,1 TM
10,000
9.2V
8,000
6,137

6,000 //
4,000

2.313/

people

B nmale

2,000 D
’ female
739
0 l/ 1 1 1 1 ]
2005 2006 2007 2008 2009 2010
year
== [aiwanese peop'e going on a Working percentage (%) of Taiwanese males and females

holiday in Australia going on working holidays

survey # 4 male § |+ female %~ |+ reason iz ¥] army & [} reason f 7]
Australia ;27 unknown % p? ern while § ---enpFiE  willing 2 3, 0

47. What may a “disparity” mean?
(A) A small number. (B) The same action({=#+). (C) A new experience(/55). (D) Something different.
48. What can we learn from the young people in Taiwan?
(A) They give up good jobs in Taiwan to have fun in other countries.
(B) Taiwanese young women are afraid to start a new life in a foreign country.
(C) The number of people going on a working holiday grew fastest from 2006 to 2007.
(D) There are more males going on a working holiday than females.
49. What is NOT talked about in the report?
(A) What country Taiwanese people love to go to for a working holiday.
(B) Why parents don’t let their children go on a working holiday.
(C) How old Taiwanese people are when they go on a working holiday.
(D) How much money people can make in Australia on a working holiday in a year.

F6F £ 7T [= &swEms)




O-XB5%:10% (8&170)

1.1t’'sd____ stodrive on the shoulder of the road.
2. The chemical(it £ e)w___ e from the factory badly polluted(i= %) the river.
3. Theclasswon firstp__ e in the singing contest last semester.
4. | felt sad because I didn’t dowell onall the q__ s at school today.
5. Please give me one more c e. | won’t make the same mistake.
6. This is Maroon 5’s | talbum(® §&). It was just on the market three days ago.
7. The typhoon broughts__ s damage (4§ % ) to this country. Many people lost their homes.
8. Theskyisgettingg vy, andit’s going to rain. Let’s go home quickly.
9. The weatherr___ tsaid it would be cloudy in the morning.
10. Thesunisveryb 't soyou’d better wear sunglasses to protect(i%:£) your eyes.

hHKRENMEE 6% (8@ 270 B—FH172)

1. Ellais 180 cm tall, and Jolin is aslo 180 cm. ( * tall ek &:x @ a1 3 )
2. Annie / is / the / popular / of / three /girl (= = &3 )

3. healthier. / Stella / herself / a lot of water / drinks / to make ( #7 3 & %)

JN~IBZRTEE 8% (8% 1)
lLEkm L h tena B A& - #pEE 955 o 7ehR R o
1. , everyone in the world buys about 55 kilograms of clothes each year.
QAPE L G 0 T2 EHERE A -
We f 2. and 3.
3.5¢ P&'Jﬁ?'l—ﬁ IIRPRE T SEA F LA Ads s P Ay TR o
| just saw the wind 4. . Many fishermen are b. their boats.
Ay § LR MA T F oA Fhke o Foa et RL o (RAEHES)
6. in open spaces. Chicken don’t 7. but rest in trees.
S.EEFRBE R Joe v S merig o E HapAe K - Lk fok s R o
Although Typhoon Joe is still 8. , strong winds and heavy rains are already here.
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1. There is a wide choice of food in the night market.
2. | used the least money to get the sweater.
3. Look. Many frogs came out of the water after the rain.
4. The boys just saw a strong wind blowing down trees in front of them.
5. The fruit dropped from the tree and hit Terry on the head.

PartB : BEARBE : SBIIBE=BFA - SKBMRINAS » ZE—ERESHOE
(&R 2E) (B8 EP BEEE 7 1)

6. Is the nurse scarier than the doctor to you?
7. The actor never says more than one sentence to any reporters.
8. Do you feel lighter after so much exercise?
9. Girl: What’s the biggest animal in the world?
Boy: Hmm. May | have some choices?
10.David looks pretty happy. Is he going to have a date with someone?

PartC : S3KIBHE : SBRIIB={EER - {K}Fﬁﬁ%EJB’JﬁaﬁgﬁiF‘%ﬁ BH—EREENEE
AR 2E) (ZEPRHBFETY)
11. Man: Why are you buying so many pens?
Woman: I’m going to share them with my friends.
Man: Who is still using pens? Isn’t everyone using computers or smartphones now?
Woman: Writing with pens is getting more and more popular. Don’t you know that?
Question: What does the woman mean?

12. Girl: Why do you always wear yellow?
Boy: I look brighter in the color, and girls would have good feelings for me.
Girl: Who told you that?
Boy: My big brother did.
Girl: Well, he was kidding you. In my eyes, the color only makes you look like a banana.
Question: What does the girl mean?

13. Boy: Why did Grandpa choose the cheesecake, not the banana pie? Doesn’t he like the sweeter
taste?
Woman: Yes, he does, but his teeth are not as well as before. The cake is easier for him to take
a bite.
Boy: OK, got it. No wonder Grandpa often eats tofu. It’s easy to bite.
Woman: That’s right.
Question: Why did the boy’s grandpa choose the cake instead of the pie?

14. Boy: | saw Lisa play a game on her smartphone. It looked fun. What is that?
Girl: Oh, it’s “Pokémon Go.” It’s one of the most popular games today. You can catch
different pokémons on streets.
Boy: Sounds interesting!
Girl: You should try it when you have free time.
Question: What did the boy see?

15. Man: Excuse me. How much is an apple?
Woman: Ten for each one.
Man: How about the peach?
Woman: It’s ninety for each one.
Man: Wow! How come? The peaches are much smaller than the apples.
Woman: The peaches took an airplane to get here.
Question: Which is true?
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